



Inferring the Eigenvalues and Eigenfunctions Asymptotically for the Eighth Order Boundary Value Problems

Aryan Ali Mohammed ¹, Rebaz Fadhil Mahmood ²

¹ Department of Mathematical Sciences, College of Basic Education, University of Sulaimani, Kurdistan Region, Iraq

² Department of Mathematics, College of Education, University of Sulaimani, Kurdistan Region, Iraq

<https://doi.org/10.25130/tjps.v27i5.21>

ARTICLE INFO.

Article history:

-Received: 8 / 6 / 2022

-Accepted: 26 / 7 / 2022

-Available online: / / 2022

Keywords: Eigenvalue problem, eigenvalue, eigenfunction, spectral parameter, asymptotic formula.

Corresponding Author:

Name: Aryan Ali Mohammed

E-mail:

aryan.mohammed@univsul.edu.iq

rebaz.mahmood@univsul.edu.iq

Tel:

ABSTRACT

In the present paper, we consider an eigenvalue problem generated by eight- order differential equations with suitable boundary conditions, that containing a spectral parameter. New accurate asymptotic expressions for the 8th linearly independent solutions are computed. Then, new asymptotic formulas for the eigenvalues and eigenfunctions of this boundary value problem are obtained.

Introduction

In this paper, an eight-order linear differential operator is generated by the differential equation and boundary conditions of the form:

$$l(y) = y^{(8)}(x) + q(x)y(x) = \lambda^8 y(x), \quad x \in [0, a] \dots (1)$$

$$U_j(y(x)) =$$

$$\begin{cases} y^{(j)}(0) = 0, j = 0, 1, 2, 3 \\ \sum_{k=1}^8 (i w_k \lambda)^{k-1} y^{(8-k)}(a, \lambda) = 0, j = 4, 5, 6, 7 \dots (2) \end{cases}$$

where λ is the spectral parameter and $q(x)$ is an arbitrary complex-valued function such that $q(x) \in C^2[0, a]$.

And also satisfies:

$$q'(0) = q'(a) = 0, \int_0^a q(x) dx = 0, \text{ provided } q(a) \neq 0.$$

Many authors have studied the spectral properties of eigenvalues and eigenfunctions of differential equations such as [1- 12].

The differential equation of second order has been studied by [2, 5, 6, 7, 9, 10] and an eigenvalue problem generated by fourth-order differential equation has been investigated by [1, 3, 4], and got asymptotic formulas for eigenvalues and eigenfunctions.

While [8] have studied eigenvalue problem generated by 6th order differential equations and also got asymptotic formulas for eigenvalues and eigenfunctions.

In this paper, a new expression for the 8th linearly independent solutions and asymptotic formulas of the eigenvalues and eigenfunctions of equations (1) and (2) is generated the auxiliary results needed are proven in section 2.

2. Expressions of Fundamental Solutions

In this section, we find a new asymptotic expression for the fundamental solutions of (1).

Theorem 1: If we have the differential equation (1) where, $q(x) \in C^{n-1}[0, a]$, then for $\lambda \in T_0$, where $T_0 = \{\lambda: \arg \lambda \in [0, \frac{\pi}{8}]\}$ and $w_k, k = 0:7$ are eight root of unity, then eight linearly independent solutions and their derivatives can be expressed as

$$y_k^{(s)}(x, \lambda) = (i \lambda w_k)^s e^{i \lambda w_k x} \left[A_{0sk}(x) + \frac{A_{1sk}(x)}{\lambda} + \frac{A_{2sk}(x)}{\lambda^2} + \frac{A_{3sk}(x)}{\lambda^3} + \frac{A_{4sk}(x)}{\lambda^4} + \frac{A_{5sk}(x)}{\lambda^5} + \frac{A_{6sk}(x)}{\lambda^6} + \dots + \frac{A_{nsk}(x)}{\lambda^n} + O\left(\frac{1}{\lambda^{n+1}}\right) \right],$$

where

$$\begin{aligned}
 A_{1sk} &= A_{1k}(x), A_{2sk} = A_{2k}(x), A_{3sk} = \\
 A_{3k}(x), A_{4sk} &= A_{4k}(x), A_{5sk} = A_{5k}(x), A_{6sk} = \\
 A_{6k}(x), \\
 A_{7sk} &= A_{7k}(x), \\
 A_{8sk} &= A_{8k}(x) - \binom{S}{1} iw_k^7 A'_{7k}(x), \\
 A_{9sk} &= A_{9k}(x) - \binom{S}{1} iw_k^7 A'_{8k}(x) - \binom{S}{2} w_k^6 A''_{7k}(x), \\
 A_{10sk} &= \\
 A_{10k}(x) &- \binom{S}{1} iw_k^7 A'_{9k}(x) - \binom{S}{2} w_k^6 A''_{8k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{7k}(x), \\
 A_{11sk} &= \\
 A_{11k}(x) &- \binom{S}{1} iw_k^7 A'_{10k}(x) - \binom{S}{2} w_k^6 A''_{9k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{8k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{7k}(x), \\
 A_{12sk} &= \\
 A_{12k}(x) &- \binom{S}{1} iw_k^7 A'_{11k}(x) - \binom{S}{2} w_k^6 A''_{10k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{9k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{8k}(x) - \binom{S}{5} iw_k^3 A^{(5)}_{7k}(x), \\
 A_{13sk} &= \\
 A_{13k}(x) &- \binom{S}{1} iw_k^7 A'_{12k}(x) - \binom{S}{2} w_k^6 A''_{11k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{10k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{9k}(x) - \\
 \binom{S}{5} iw_k^3 A^{(5)}_{8k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{7k}(x), \\
 A_{14sk} &= \\
 A_{14k}(x) &- \binom{S}{1} iw_k^7 A'_{13k}(x) - \binom{S}{2} w_k^6 A''_{12k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{11k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{10k}(x) - \\
 \binom{S}{5} iw_k^3 A^{(5)}_{9k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{8k}(x) + \binom{S}{7} iw_k A^{(7)}_{7k}(x), \\
 A_{15sk} &= \\
 A_{15k}(x) &- \binom{S}{1} iw_k^7 A'_{14k}(x) - \binom{S}{2} w_k^6 A''_{13k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{12k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{11k}(x) - \\
 \binom{S}{5} iw_k^3 A^{(5)}_{10k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{9k}(x) + \\
 \binom{S}{7} iw_k A^{(7)}_{8k}(x) + \binom{S}{8} A^{(8)}_{7k}(x). \\
 &\vdots
 \end{aligned}$$

And for $n > 15$ we have

$$\begin{aligned}
 A_{nsk} &= \\
 A_{nk}(x) &- \binom{S}{1} iw_k^7 A'_{n-1,k}(x) - \binom{S}{2} w_k^6 A''_{n-2,k}(x) + \\
 \binom{S}{3} iw_k^5 A'''_{n-3,k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{n-4,k}(x) - \\
 \binom{S}{5} iw_k^3 A^{(5)}_{n-5,k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{n-6,k}(x) + \\
 \binom{S}{7} iw_k A^{(7)}_{n-7,k}(x) + \binom{S}{8} A^{(8)}_{n-8,k}(x).
 \end{aligned}$$

And

$$\begin{aligned}
 A_{0k}(x) &= 1, A_{1k}(x) = 0, A_{2k}(x) = 0, A_{3k}(x) = \\
 0, A_{4k}(x) &= 0, A_{5k}(x) = 0, A_{6k}(x) = 0, \\
 A_{7k}(x) &= -\frac{iw_k}{8} \int_0^x q(t) A_{0,k}(t) dt, \\
 A_{8k}(x) &= \\
 -\frac{iw_k}{8} \int_0^x &(-28w_k^6 A''_{7,k}(t) + q(t) A_{1,k}(t)) dt,
 \end{aligned}$$

$$\begin{aligned}
 A_{9k}(x) &= \\
 -\frac{iw_k}{8} \int_0^x &(-28w_k^6 A''_{8,k}(t) + 56iw_k^5 A'''_{7,k}(t) + \\
 q(t) A_{2,k}(t)) &dt,
 \end{aligned}$$

$$\begin{aligned}
 A_{10k}(x) &= \\
 -\frac{iw_k}{6} \int_0^x &(-28w_k^6 A''_{9,k}(t) + 56iw_k^5 A'''_{8,k}(t) + \\
 70w_k^4 A^{(4)}_{7,k}(t) &+ q(t) A_{3,k}(t)) dt,
 \end{aligned}$$

And for integer $n \geq 11$ we get that

$$\begin{aligned}
 A_{nk}(x) &= -\frac{iw_k}{8} \int_0^x (-28w_k^6 A''_{n-1,k}(x) + \\
 56iw_k^5 A'''_{n-2,k}(x) &+ 70w_k^4 A^{(4)}_{n-3,k}(x) - \\
 56iw_k^3 A^{(5)}_{n-4,k}(x) &- 28w_k^2 A^{(6)}_{n-5,k}(x) + \\
 8iw_k A^{(7)}_{n-6,k}(x) &+ A^{(8)}_{n-7,k}(x) + q(x) A_{n-7,k}(x)) dt.
 \end{aligned}$$

Proof: As we see in [1], the solution of the differential equation can be written in a power series of the form

$$y_k(x, \lambda) = e^{\lambda \int_0^x \phi_k dt} \sum_{j=0}^{\infty} \frac{A_j(x)}{\lambda^j}, \text{ where } \phi_k(x) =$$

$iw_k \sqrt[8]{\rho(x)}$, but in our problem

$$\rho(x) = 1, \text{ can be written as } y_k(x, \lambda) = e^{i\lambda w_k x} \sum_{j=0}^{\infty} \frac{A_j(x)}{\lambda^j}.$$

We try to find $y'_k, y''_k, y'''_k, y_k^{(4)}, y_k^{(5)}, y_k^{(6)}, y_k^{(7)}, y_k^{(8)}$ and putting in the differential equation (1).

$$y_k(x, \lambda) = e^{i\lambda w_k x} \left[A_0(x) + \frac{A_1(x)}{\lambda} + \dots + \frac{A_n(x)}{\lambda^n} + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots \dots (3)$$

$$\begin{aligned}
 y'_k(x, \lambda) &= i\lambda w_k e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - \right. \\
 iw_k^7 A'_0(x)) &+ \frac{1}{\lambda^2} (A_2(x) - iw_k^7 A'_1(x)) + \\
 \frac{1}{\lambda^3} (A_3(x) - iw_k^7 A'_2(x)) &+ \frac{1}{\lambda^4} (A_4(x) - iw_k^7 A'_3(x)) + \\
 \dots + \frac{1}{\lambda^n} (A_n(x) - iw_k^7 A'_{n-1}(x)) &+ O\left(\frac{1}{\lambda^{n+1}}\right) \left. \right], \dots \dots (4)
 \end{aligned}$$

$$\begin{aligned}
 y''_k(x, \lambda) &= (i\lambda w_k)^2 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - \right. \\
 2iw_k^7 A'_0(x)) &+ \frac{1}{\lambda^2} (A_2(x) - 2iw_k^7 A'_1(x) - \\
 w_k^6 A''_0(x)) &+ \frac{1}{\lambda^3} (A_3(x) - 2iw_k^7 A'_2(x) - w_k^6 A''_1(x)) + \\
 \frac{1}{\lambda^4} (A_4(x) - 2iw_k^7 A'_3(x) - w_k^6 A''_2(x)) &+ \\
 \frac{1}{\lambda^5} (A_5(x) - 2iw_k^7 A'_4(x) - w_k^6 A''_3(x)) &+ \dots + \\
 \frac{1}{\lambda^n} (A_n(x) - 2iw_k^7 A'_{n-1}(x) - w_k^6 A''_{n-2}(x)) &+ \\
 O\left(\frac{1}{\lambda^{n+1}}\right) \left. \right], \dots \dots (5)
 \end{aligned}$$

$$\begin{aligned}
 y'''_k(x, \lambda) &= (i\lambda w_k)^3 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - \right. \\
 3iw_k^7 A'_0(x)) &+ \frac{1}{\lambda^2} (A_2(x) - 3iw_k^7 A'_1(x) - \\
 3w_k^6 A''_0(x)) &+ \\
 \frac{1}{\lambda^3} (A_3(x) - 3iw_k^7 A'_2(x) - 3w_k^6 A''_1(x) &+ \\
 iw_k^5 A'''_0(x)) &+ \frac{1}{\lambda^4} (A_4(x) - 3iw_k^7 A'_3(x) - \\
 3w_k^6 A''_2(x) + iw_k A^{(4)}_{1,k}(x)) &+ \frac{1}{\lambda^5} (A_5(x) - \\
 3iw_k^7 A'_4(x) - 3w_k^6 A''_3(x) + iw_k A^{(4)}_{2,k}(x)) &+ \dots + \\
 \frac{1}{\lambda^n} (A_n(x) - 3iw_k^7 A'_{n-1}(x) - 3w_k^6 A''_{n-2}(x) &+ \\
 iw_k^5 A'''_{n-3}(x)) &+ O\left(\frac{1}{\lambda^{n+1}}\right) \left. \right], \dots \dots (6)
 \end{aligned}$$

$$y_k^{(4)}(x, \lambda) = (i\lambda w_k)^4 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - 4iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (A_2(x) - 4iw_k^7 A'_1(x) - 6w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (A_3(x) - 4iw_k^7 A'_2(x) - 6w_k^6 A''_1(x) + 4iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (A_4(x) - 4iw_k^7 A'_3(x) - 6w_k^6 A''_2(x) + 4iw_k^5 A'''_1(x) + w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (A_5(x) - 4iw_k^7 A'_4(x) - 6w_k^6 A''_3(x) + 4iw_k^5 A'''_2(x) + w_k^4 A^{(4)}_1(x)) + \frac{1}{\lambda^6} (A_6(x) - 4iw_k^7 A'_5(x) - 6w_k^6 A''_4(x) + 4iw_k^5 A'''_3(x) + w_k^4 A^{(4)}_2(x)) + \dots + \frac{1}{\lambda^n} (A_n(x) - 4iw_k^7 A'_{n-1}(x) - 6w_k^6 A''_{n-2}(x) + 4iw_k^5 A'''_{n-3}(x) + w_k^4 A^{(4)}_{n-4}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots (7)$$

$$y_k^{(5)}(x, \lambda) = (i\lambda w_k)^5 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - 5iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (A_2(x) - 5iw_k^7 A'_1(x) - 10w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (A_3(x) - 5iw_k^7 A'_2(x) - 10w_k^6 A''_1(x) + 10iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (A_4(x) - 5iw_k^7 A'_3(x) - 10w_k^6 A''_2(x) + 10iw_k^5 A'''_1(x) + 5w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (A_5(x) - 5iw_k^7 A'_4(x) - 10w_k^6 A''_3(x) + 10iw_k^5 A'''_2(x) + 5w_k^4 A^{(4)}_1(x) - iw_k^3 A^{(5)}_0(x)) + \dots + \frac{1}{\lambda^n} (A_n(x) - 5iw_k^7 A'_{n-1}(x) - 10w_k^6 A''_{n-2}(x) + 10iw_k^5 A'''_{n-3}(x) + 5w_k^4 A^{(4)}_{n-4}(x) - iw_k^3 A^{(5)}_{n-5}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots (8)$$

$$y_k^{(6)}(x, \lambda) = (i\lambda w_k)^6 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - 6iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (A_2(x) - 6iw_k^7 A'_1(x) - 15w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (A_3(x) - 6iw_k^7 A'_2(x) - 15w_k^6 A''_1(x) + 20iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (A_4(x) - 6iw_k^7 A'_3(x) - 15w_k^6 A''_2(x) + 20iw_k^5 A'''_1(x) + 15w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (A_5(x) - 6iw_k^7 A'_4(x) - 15w_k^6 A''_3(x) + 20iw_k^5 A'''_2(x) + 15w_k^4 A^{(4)}_1(x) - 6iw_k^3 A^{(5)}_0(x)) + \frac{1}{\lambda^6} (A_6(x) - 6iw_k^7 A'_5(x) - 15w_k^6 A''_4(x) + 20iw_k^5 A'''_3(x) + 15w_k^4 A^{(4)}_2(x) - 6iw_k^3 A^{(5)}_1(x) - w_k^2 A^{(6)}_0(x)) + \dots + \frac{1}{\lambda^n} (A_n(x) - 6iw_k^7 A'_{n-1}(x) - 15w_k^6 A''_{n-2}(x) + 20iw_k^5 A'''_{n-3}(x) + 15w_k^4 A^{(4)}_{n-4}(x) - 6iw_k^3 A^{(5)}_{n-5}(x) - w_k^2 A^{(6)}_{n-6}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots (9)$$

$$y_k^{(7)}(x, \lambda) = (i\lambda w_k)^7 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - 7iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (A_2(x) - 7iw_k^7 A'_1(x) -$$

$$21w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (A_3(x) - 7iw_k^7 A'_2(x) - 21w_k^6 A''_1(x) + 35iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (A_4(x) - 7iw_k^7 A'_3(x) - 21w_k^6 A''_2(x) + 35iw_k^5 A'''_1(x) + 35w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (A_5(x) - 7iw_k^7 A'_4(x) - 21w_k^6 A''_3(x) + 35iw_k^5 A'''_2(x) + 35w_k^4 A^{(4)}_1(x) - 21iw_k^3 A^{(5)}_0(x)) + \frac{1}{\lambda^6} (A_6(x) - 7iw_k^7 A'_5(x) - 21w_k^6 A''_4(x) + 35iw_k^5 A'''_3(x) + 35w_k^4 A^{(4)}_2(x) - 21iw_k^3 A^{(5)}_1(x) - 7w_k^2 A^{(6)}_0(x)) + \frac{1}{\lambda^7} (A_7(x) - 7iw_k^7 A'_6(x) - 21w_k^6 A''_5(x) + 35iw_k^5 A'''_4(x) + 35w_k^4 A^{(4)}_3(x) - 21iw_k^3 A^{(5)}_2(x) - 7w_k^2 A^{(6)}_1(x) + iw_k A^{(7)}_0(x)) + \dots + \frac{1}{\lambda^n} (A_n(x) - 7iw_k^7 A'_{n-1}(x) - 21w_k^6 A''_{n-2}(x) + 35iw_k^5 A'''_{n-3}(x) + 35w_k^4 A^{(4)}_{n-4}(x) - 21iw_k^3 A^{(5)}_{n-5}(x) - 7w_k^2 A^{(6)}_{n-6}(x) + iw_k A^{(7)}_{n-7}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots (10)$$

$$y_k^{(8)}(x, \lambda) = (i\lambda w_k)^8 e^{i\lambda w_k x} \left[A_0(x) + \frac{1}{\lambda} (A_1(x) - 8iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (A_2(x) - 8iw_k^7 A'_1(x) - 28w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (A_3(x) - 8iw_k^7 A'_2(x) - 28w_k^6 A''_1(x) + 56iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (A_4(x) - 8iw_k^7 A'_3(x) - 28w_k^6 A''_2(x) + 56iw_k^5 A'''_1(x) + 70w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (A_5(x) - 8iw_k^7 A'_4(x) - 28w_k^6 A''_3(x) + 56iw_k^5 A'''_2(x) + 70w_k^4 A^{(4)}_1(x) - 56iw_k^3 A^{(5)}_0(x)) + \frac{1}{\lambda^6} (A_6(x) - 8iw_k^7 A'_5(x) - 28w_k^6 A''_4(x) + 56iw_k^5 A'''_3(x) + 70w_k^4 A^{(4)}_2(x) - 56iw_k^3 A^{(5)}_1(x) - 28w_k^2 A^{(6)}_0(x)) + \frac{1}{\lambda^7} (A_7(x) - 8iw_k^7 A'_6(x) - 28w_k^6 A''_5(x) + 56iw_k^5 A'''_4(x) + 70w_k^4 A^{(4)}_3(x) - 56iw_k^3 A^{(5)}_2(x) - 28w_k^2 A^{(6)}_1(x) + 8iw_k A^{(7)}_0(x)) + \frac{1}{\lambda^8} (A_8(x) - 8iw_k^7 A'_7(x) - 28w_k^6 A''_6(x) + 56iw_k^5 A'''_5(x) + 70w_k^4 A^{(4)}_4(x) - 56iw_k^3 A^{(5)}_3(x) - 28w_k^2 A^{(6)}_2(x) + 8iw_k A^{(7)}_1(x) + A^{(8)}_0(x)) + \dots + \frac{1}{\lambda^n} (A_n(x) - 8iw_k^7 A'_{n-1}(x) - 28w_k^6 A''_{n-2}(x) + 56iw_k^5 A'''_{n-3}(x) + 70w_k^4 A^{(4)}_{n-4}(x) - 56iw_k^3 A^{(5)}_{n-5}(x) - 28w_k^2 A^{(6)}_{n-6}(x) + 8iw_k A^{(7)}_{n-7}(x) + A^{(8)}_{n-8}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) \right], \dots (11)$$

Putting (3) and (11) in (1) and after simplification we get:

$$\lambda^8 e^{i\lambda w_k x} \left[\frac{1}{\lambda} (-8iw_k^7 A'_0(x)) + \frac{1}{\lambda^2} (-8iw_k^7 A'_1(x) - 28w_k^6 A''_0(x)) + \frac{1}{\lambda^3} (-8iw_k^7 A'_2(x) - 28w_k^6 A''_1(x) + 56iw_k^5 A'''_0(x)) + \frac{1}{\lambda^4} (-8iw_k^7 A'_3(x) - 28w_k^6 A''_2(x) + 56iw_k^5 A'''_1(x) + 70w_k^4 A^{(4)}_0(x)) + \frac{1}{\lambda^5} (-8iw_k^7 A'_4(x) - 28w_k^6 A''_3(x) + 56iw_k^5 A'''_2(x) + 70w_k^4 A^{(4)}_1(x) - 56iw_k^3 A^{(5)}_0(x)) +$$

$$\begin{aligned} & \frac{1}{\lambda^6} (-8iw_k^7 A_5'(x) - 28w_k^6 A_4''(x) + 56iw_k^5 A_3'''(x) + \\ & 70w_k^4 A_2^{(4)}(x) - 56iw_k^3 A_1^{(5)}(x) - 28w_k^2 A_0^{(6)}(x)) + \\ & \frac{1}{\lambda^7} (-8iw_k^7 A_6'(x) - 28w_k^6 A_5''(x) + 56iw_k^5 A_4'''(x) + \\ & 70w_k^4 A_3^{(4)}(x) - 56iw_k^3 A_2^{(5)}(x) - 28w_k^2 A_1^{(6)}(x) + \\ & 8iw_k A_0^{(7)}(x)) + \\ & \frac{1}{\lambda^8} (-8iw_k^7 A_7'(x) - 28w_k^6 A_6''(x) + 56iw_k^5 A_5'''(x) + \\ & 70w_k^4 A_4^{(4)}(x) - 56iw_k^3 A_3^{(5)}(x) - 28w_k^2 A_2^{(6)}(x) + \\ & 8iw_k A_1^{(7)}(x) + A_0^{(8)}(x) + q(x)A_0(x)) + \\ & \frac{1}{\lambda^9} (-8iw_k^7 A_8'(x) - 28w_k^6 A_7''(x) + 56iw_k^5 A_6'''(x) + \\ & 70w_k^4 A_5^{(4)}(x) - 56iw_k^3 A_4^{(5)}(x) - 28w_k^2 A_3^{(6)}(x) + \\ & 8iw_k A_2^{(7)}(x) + A_1^{(8)}(x) + q(x)A_1(x)) + \\ & \frac{1}{\lambda^{10}} (-8iw_k^7 A_9'(x) - 28w_k^6 A_8''(x) + 56iw_k^5 A_7'''(x) + \\ & 70w_k^4 A_6^{(4)}(x) - 56iw_k^3 A_5^{(5)}(x) - 28w_k^2 A_4^{(6)}(x) + \\ & 8iw_k A_3^{(7)}(x) + A_2^{(8)}(x) + q(x)A_2(x)) + \dots + \\ & \frac{1}{\lambda^n} (-8iw_k^7 A_{n-1}'(x) - 28w_k^6 A_{n-2}''(x) + \\ & 56iw_k^5 A_{n-3}'''(x) + 70w_k^4 A_{n-4}^{(4)}(x) - 56iw_k^3 A_{n-5}^{(5)}(x) - \\ & 28w_k^2 A_{n-6}^{(6)}(x) + 8iw_k A_{n-7}^{(7)}(x) + A_{n-8}^{(8)}(x) + \\ & q(x)A_{n-8}(x)) + O\left(\frac{1}{\lambda^{n+1}}\right) = 0. \end{aligned}$$

By equating the coefficients of the same power of $\frac{1}{\lambda}$, then we get the following relation:

$$\begin{aligned} -8iw_k^7 A_0'(x) &= 0, \\ -8iw_k^7 A_1'(x) - 28w_k^6 A_0''(x) &= 0, \\ -8iw_k^7 A_2'(x) - 28w_k^6 A_1''(x) + 56iw_k^5 A_0'''(x) &= 0, \\ -8iw_k^7 A_3'(x) - 28w_k^6 A_2''(x) + 56iw_k^5 A_1'''(x) + \\ 70w_k^4 A_0^{(4)}(x) &= 0, \\ -8iw_k^7 A_4'(x) - 28w_k^6 A_3''(x) + 56iw_k^5 A_2'''(x) + \\ 70w_k^4 A_1^{(4)}(x) - 56iw_k^3 A_0^{(5)}(x) &= 0, \\ -8iw_k^7 A_5'(x) - 28w_k^6 A_4''(x) + 56iw_k^5 A_3'''(x) + \\ 70w_k^4 A_2^{(4)}(x) - 56iw_k^3 A_1^{(5)}(x) - 28w_k^2 A_0^{(6)}(x) &= 0, \\ -8iw_k^7 A_6'(x) - 28w_k^6 A_5''(x) + 56iw_k^5 A_4'''(x) + \\ 70w_k^4 A_3^{(4)}(x) - 56iw_k^3 A_2^{(5)}(x) - 28w_k^2 A_1^{(6)}(x) + \\ 8iw_k A_0^{(7)}(x) &= 0, \\ -8iw_k^7 A_7'(x) - 28w_k^6 A_6''(x) + 56iw_k^5 A_5'''(x) + \\ 70w_k^4 A_4^{(4)}(x) - 56iw_k^3 A_3^{(5)}(x) - 28w_k^2 A_2^{(6)}(x) + \\ 8iw_k A_1^{(7)}(x) + A_0^{(8)}(x) + q(x)A_0(x) &= 0, \\ -8iw_k^7 A_8'(x) - 28w_k^6 A_7''(x) + 56iw_k^5 A_6'''(x) + \\ 70w_k^4 A_5^{(4)}(x) - 56iw_k^3 A_4^{(5)}(x) - 28w_k^2 A_3^{(6)}(x) + \\ 8iw_k A_2^{(7)}(x) + A_1^{(8)}(x) + q(x)A_1(x) &= 0, \\ -8iw_k^7 A_9'(x) - 28w_k^6 A_8''(x) + 56iw_k^5 A_7'''(x) + \\ 70w_k^4 A_6^{(4)}(x) - 56iw_k^3 A_5^{(5)}(x) - 28w_k^2 A_4^{(6)}(x) + \\ 8iw_k A_3^{(7)}(x) + A_2^{(8)}(x) + q(x)A_2(x) &= 0, \\ \vdots \\ -8iw_k^7 A_{n-1}'(x) - 28w_k^6 A_{n-2}''(x) + 56iw_k^5 A_{n-3}'''(x) + \\ 70w_k^4 A_{n-4}^{(4)}(x) - 56iw_k^3 A_{n-5}^{(5)}(x) - 28w_k^2 A_{n-6}^{(6)}(x) + \\ 8iw_k A_{n-7}^{(7)}(x) + A_{n-8}^{(8)}(x) + q(x)A_{n-8}(x) &= 0. \end{aligned}$$

by solving above equations, we get

$$A_{0k}(x) = 1, A_{1k}(x) = 0, A_{2k}(x) = 0, A_{3k}(x) = 0, A_{4k}(x) = 0, A_{5k}(x) = 0, A_{6k}(x) = 0,$$

$$\begin{aligned} A_{7k}(x) &= -\frac{iw_k}{8} \int_0^x q(t)A_{0k}(t)dt, \\ A_{8k}(x) &= \\ & -\frac{iw_k}{8} \int_0^x (-28w_k^6 A_{7,k}'(t) + q(t)A_{1,k}(t)) dt, \\ A_{9k}(x) &= \\ & -\frac{iw_k}{8} \int_0^x (-28w_k^6 A_{8,k}''(t) + 56iw_k^5 A_{7,k}'''(t) + \\ & q(t)A_{2,k}(t)) dt, \\ A_{10k}(x) &= \\ & -\frac{iw_k}{6} \int_0^x (-28w_k^6 A_{9,k}''(t) + 56iw_k^5 A_{8,k}'''(t) + \\ & 70w_k^4 A_{7,k}^{(4)}(t) + q(t)A_{3,k}(t)) dt, \end{aligned}$$

And for integer $n \geq 11$, we get that $A_{nk}(x) = -\frac{iw_k}{8} \int_0^x (-28w_k^6 A_{n-1,k}''(x) + 56iw_k^5 A_{n-2,k}'''(x) + 70w_k^4 A_{n-3,k}^{(4)}(x) - 56iw_k^3 A_{n-4,k}^{(5)}(x) - 28w_k^2 A_{n-5,k}^{(6)}(x) + 8iw_k A_{n-6,k}^{(7)}(x) + A_{n-7,k}^{(8)}(x) + q(x)A_{n-7,k}(x)) dt.$

So, we obtain

$$\begin{aligned} A_{1sk} &= A_{1k}(x) - \binom{S}{1} iw_k^7 A_{0k}'(x), \\ A_{2sk} &= A_{2k}(x) - \binom{S}{1} iw_k^7 A_{1k}'(x) - \binom{S}{2} w_k^7 A_{0k}''(x), \\ A_{3sk} &= A_{3k}(x) - \binom{S}{1} iw_k^7 A_{2k}'(x) - \binom{S}{2} w_k^6 A_{1k}''(x) + \\ & \binom{S}{3} iw_k^5 A_{0k}'''(x), \\ A_{4sk} &= A_{4k}(x) - \binom{S}{1} iw_k^7 A_{3k}'(x) - \binom{S}{2} w_k^6 A_{2k}''(x) \\ & + \binom{S}{3} iw_k^5 A_{1k}'''(x) + \binom{S}{4} w_k^4 A_{0k}^{(4)}(x), \end{aligned}$$

$$\begin{aligned} A_{5sk} &= A_{5k}(x) - \binom{S}{1} iw_k^7 A_{4k}'(x) - \binom{S}{2} w_k^6 A_{3k}''(x) + \\ & \binom{S}{3} w_k^5 A_{2k}'''(x) + \binom{S}{4} w_k^4 A_{1k}^{(4)}(x) - \binom{S}{5} iw_k^3 A_{0k}^{(5)}(x), \end{aligned}$$

$$\begin{aligned} A_{6sk} &= A_{6k}(x) - \binom{S}{1} iw_k^7 A_{5k}'(x) - \binom{S}{2} w_k^6 A_{4k}''(x) + \\ & \binom{S}{3} iw_k^5 A_{3k}'''(x) + \binom{S}{4} w_k^4 A_{2k}^{(4)}(x) - \\ & \binom{S}{5} iw_k^3 A_{1k}^{(5)}(x) - \binom{S}{6} w_k^2 A_{0k}^{(6)}(x), \end{aligned}$$

$$\begin{aligned} A_{7sk} &= A_{7k}(x) - \binom{S}{1} iw_k^7 A_{6k}'(x) - \binom{S}{2} w_k^6 A_{5k}''(x) + \\ & \binom{S}{3} iw_k^5 A_{4k}'''(x) + \binom{S}{4} w_k^4 A_{3k}^{(4)}(x) - \\ & \binom{S}{5} iw_k^3 A_{2k}^{(5)}(x) - \binom{S}{6} w_k^2 A_{1k}^{(6)}(x) + \binom{S}{7} iw_k A_{0k}^{(7)}(x), \end{aligned}$$

$$\begin{aligned} A_{8sk} &= A_{8k}(x) - \binom{S}{1} iw_k^7 A_{7k}'(x) - \binom{S}{2} w_k^6 A_{6k}''(x) + \\ & \binom{S}{3} iw_k^5 A_{5k}'''(x) + \binom{S}{4} w_k^4 A_{4k}^{(4)}(x) - \\ & \binom{S}{5} iw_k^3 A_{3k}^{(5)}(x) - \binom{S}{6} w_k^2 A_{2k}^{(6)}(x) + \\ & \binom{S}{7} iw_k A_{1k}^{(7)}(x) + \binom{S}{8} A_{0k}^{(8)}(x), \end{aligned}$$

and so on. For $n > 8$ we have

$$\begin{aligned} A_{nsk} &= \\ A_{nk}(x) &- \binom{S}{1} iw_k^7 A_{n-1k}'(x) - \binom{S}{2} w_k^6 A_{n-2k}''(x) + \\ & \binom{S}{3} iw_k^5 A_{n-3k}'''(x) + \binom{S}{4} w_k^4 A_{n-4k}^{(4)}(x) - \end{aligned}$$

$$\begin{aligned} & \binom{S}{5} iw_k^3 A_{n-5,k}^{(5)}(x) - \binom{S}{6} w_k^2 A_{n-6,k}^{(6)}(x) + \\ & \binom{S}{7} iw_k A_{n-7,k}^{(7)}(x) + \binom{S}{8} A_{n-8,k}^{(8)}(x). \end{aligned}$$

But

$A_{0k}(x), A_{1k}(x), A_{2k}(x), A_{3k}(x), A_{4k}(x), A_{5k}(x)$ and $A_{6k}(x)$ are constants, their derivatives vanish. Then we can write:

$$\begin{aligned} A_{15sk} &= A_{1k}(x), A_{25sk} = A_{2k}(x), A_{35sk} = \\ A_{3k}(x), A_{45sk} &= A_{4k}(x), A_{55sk} = A_{5k}(x), A_{65sk} = \\ A_{6k}(x), \\ A_{75sk} &= A_{7k}(x), A_{85sk} = A_{8k}(x) - \binom{S}{1} iw_k^7 A'_{7k}(x), \\ A_{95sk} &= A_{9k}(x) - \binom{S}{1} iw_k^7 A'_{8k}(x) - \binom{S}{2} w_k^6 A''_{7k}(x), \\ A_{105sk} &= \\ A_{10k}(x) - \binom{S}{1} iw_k^7 A'_{9k}(x) - \binom{S}{2} w_k^6 A''_{8k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{7k}(x), \\ A_{115sk} &= \\ A_{11k}(x) - \binom{S}{1} iw_k^7 A'_{10k}(x) - \binom{S}{2} w_k^6 A''_{9k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{8k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{7k}(x), \\ A_{85sk} &= A_{8k}(x) - \binom{S}{1} iw_k^7 A'_{7k}(x) - \binom{S}{2} w_k^6 A''_{6k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{5k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{4k}(x) - \\ \binom{S}{5} iw_k^3 A^{(5)}_{3k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{1k}(x) + \\ \binom{S}{7} iw_k A^{(7)}_{1k}(x) + \binom{S}{8} A^{(8)}_{0k}(x), \\ A_{125sk} &= \\ A_{12k}(x) - \binom{S}{1} iw_k^7 A'_{11k}(x) - \binom{S}{2} w_k^6 A''_{10k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{9k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{8k}(x) - \binom{S}{5} iw_k^3 A^{(5)}_{7k}(x), \\ A_{135sk} &= \\ A_{13k}(x) - \binom{S}{1} iw_k^7 A'_{12k}(x) - \binom{S}{2} w_k^6 A''_{11k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{10k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{9k}(x) - \\ \binom{S}{5} iw_k^3 A^{(5)}_{8k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{7k}(x), \\ A_{145sk} &= \\ A_{14k}(x) - \binom{S}{1} iw_k^7 A'_{13k}(x) - \binom{S}{2} w_k^6 A''_{12k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{11k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{10k}(x) - \\ \binom{S}{5} iw_k^3 A^{(5)}_{9k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{8k}(x) + \binom{S}{7} iw_k A^{(7)}_{7k}(x), \\ A_{155sk} &= \\ A_{15k}(x) - \binom{S}{1} iw_k^7 A'_{14k}(x) - \binom{S}{2} w_k^6 A''_{13k}(x) + \\ \binom{S}{3} iw_k^5 A'''_{12k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{11k}(x) - \\ \binom{S}{5} iw_k^3 A^{(5)}_{10k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{9k}(x) + \\ \binom{S}{7} iw_k A^{(7)}_{8k}(x) + \binom{S}{8} A^{(8)}_{7k}(x), \\ & \vdots \end{aligned}$$

and for $n > 15$, we have

$$A_{nsk} = A_{nk}(x) - \binom{S}{1} iw_k^7 A'_{n-1,k}(x) - \binom{S}{2} w_k^6 A''_{n-2,k}(x) +$$

$$\begin{aligned} & \binom{S}{3} iw_k^5 A'''_{n-3,k}(x) + \binom{S}{4} w_k^4 A^{(4)}_{n-4,k}(x) - \\ & \binom{S}{5} iw_k^3 A^{(5)}_{n-5,k}(x) - \binom{S}{6} w_k^2 A^{(6)}_{n-6,k}(x) + \\ & \binom{S}{7} iw_k A^{(7)}_{n-7,k}(x) + \binom{S}{8} A^{(8)}_{n-8,k}(x). \end{aligned}$$

Hence, we can write the eight linearly independent solution and their derivatives of the differential equation of the form

$$y_k^{(s)}(x, \lambda) = (i\lambda w_k)^s e^{i\lambda w_k x} \left[A_{0k}(x) + \frac{A_{15sk}}{\lambda} + \frac{A_{25sk}}{\lambda^2} + \frac{A_{35sk}}{\lambda^3} + \frac{A_{45sk}}{\lambda^4} + \frac{A_{55sk}}{\lambda^5} + \frac{A_{65sk}}{\lambda^6} + \dots + \frac{A_{n5sk}}{\lambda^n} + O\left(\frac{1}{\lambda^{n+1}}\right) \right].$$

3. Asymptotic behavior of eigenvalues

In this section, we try to find eigenvalue of the problem (1)-(2).

Theorem 2: Consider the boundary value problem (1)- (2), where $q(x)$ is smooth function, such that satisfies the conditions $q'(a) = 0$, $q'(0) = 0$, $\int_0^a q(x)dx = 0$, and $q(a) \neq 0$, then for $\lambda \in T_0$,

where $T_0 = \left\{ \lambda: \arg \lambda \in \left[0, \frac{\pi}{8}\right] \right\}$ the asymptotic formulas for eigenvalues of the problem for sufficiently large $|m|$, has the following forms

$$\lambda_{0,m} = \left(\frac{2m\pi}{(-1-(\sqrt{2}+1)i)a} + \frac{i}{(-1-(\sqrt{2}+1)i)a} + O\left(\frac{1}{m^8}\right) \right)^8,$$

for $m =$

$N, N + 1, N + 2, \dots$ where N is a large integer.

Proof:

If the first eight terms in (3) are chosen so we obtain

$$y_k^{(s)}(x, \lambda) = (i\lambda w'_k)^s e^{i\lambda w'_k x} \left[A_{0sk}(x) + \frac{A_{15sk}(x)}{\lambda} + \frac{A_{25sk}(x)}{\lambda^2} + \frac{A_{35sk}(x)}{\lambda^3} + \frac{A_{45sk}(x)}{\lambda^4} + \frac{A_{55sk}(x)}{\lambda^5} + \frac{A_{65sk}(x)}{\lambda^6} + \frac{A_{75sk}(x)}{\lambda^7} + O\left(\frac{1}{\lambda^8}\right) \right],$$

for, $s = 0, 1, 2, 3, 4, 5, 6, 7, k =$

$0, 1, 2, 3, 4, 5, 6, 7$. We have:

$$\begin{aligned} A_{0sk} &= A_{0k}(x), \\ A_{15sk} &= A_{1k}(x), A_{25sk} = A_{2k}(x), A_{35sk} = \\ A_{3k}(x), A_{45sk} &= A_{4k}(x), A_{55sk} = A_{5k}(x), A_{65sk} = \\ A_{6k}(x), \\ A_{75sk} &= A_{7k}(x). \end{aligned}$$

And

$$A_{0,k}(x) = 1, A_{1,k}(x) = 0, A_{2,k}(x) = 0, A_{3,k}(x) = 0, A_{4,k}(x) = 0, A_{5,k}(x) = 0, A_{6,k}(x) = 0,$$

$$A_{7,k}(x) = -\frac{iw_k}{8} \int_0^x q(t)A_{0,k}(t)dt.$$

And to find the boundary conditions $U_j(y_k)$, for $k, j = 0, 1, 2, 3, 4, 5$, we have

$$U_0(y) = y(0) = 0, U_1(y) = y'(0) = 0, U_2(y) = y''(0) = 0, U_3(y) = y'''(0) = 0,$$

$$U_j(y) = \sum_{k=1}^8 (iw_j \lambda)^{8-k} y^{(k-1)}(a, \lambda) = 0, j = 4, 5, 6, 7$$

$$\text{where, } w_k = \sqrt[8]{1} = e^{\frac{2\pi k i}{8}} = e^{\frac{\pi k i}{4}}, k = 0, 1, 2, 3, 4, 5, 6, 7.$$

$$\text{Now, } w_0 = 1, w_1 = \frac{1+i}{\sqrt{2}}, w_2 = i, w_3 = \frac{i-1}{\sqrt{2}}, w_4 = -1, w_5 = \frac{-1-i}{\sqrt{2}}, w_6 = -i, w_7 = \frac{1-i}{\sqrt{2}},$$

and w'_j are the w_j which numbering so that satisfy the inequality:

$$\text{Re}(i\lambda w'_0) \leq \text{Re}(i\lambda w'_1) \leq \text{Re}(i\lambda w'_2) \leq \text{Re}(i\lambda w'_3) \leq \text{Re}(i\lambda w'_4) \leq \text{Re}(i\lambda w'_5) \leq \text{Re}(i\lambda w'_6) \leq \text{Re}(i\lambda w'_7).$$

We can easily find out the form of each boundary condition up to order eight

$$U_0(y_k) = \left[1 + O\left(\frac{1}{\lambda^8}\right)\right], \dots (12)$$

$$U_1(y_k) = i\lambda w'_k \left[1 + O\left(\frac{1}{\lambda^8}\right)\right], \dots (13)$$

$$U_2(y_k) = -\lambda^2 w_k'^2 \left[1 + O\left(\frac{1}{\lambda^8}\right)\right], \dots (14)$$

$$U_3(y_k) = -i\lambda^3 w_k'^3 \left[1 + O\left(\frac{1}{\lambda^8}\right)\right], \dots (15)$$

$$U_j(y_k) = -i\lambda^7 e^{i\lambda w_k a} \left[1 + O\left(\frac{1}{\lambda^8}\right)\right] \left[(w'_k)^7 + w_j (w'_k)^6 + (w_j)^2 (w'_k)^5 + (w_j)^3 (w'_k)^4 + (w_j)^4 (w'_k)^3 + (w_j)^5 (w'_k)^2 + (w_j)^6 (w'_k) + (w_j)^7\right], \text{ for } k = 0: 7, j = 4, 5, 6, 7, \dots (16)$$

If $\lambda \in T_0$, then $w'_0 = i, w'_1 = \frac{1+i}{\sqrt{2}}, w'_2 = \frac{i-1}{\sqrt{2}}, w'_3 = 1, w'_4 = -1, w'_5 = \frac{1-i}{\sqrt{2}}, w'_6 = \frac{-1-i}{\sqrt{2}}$ and $w'_7 = -i$.

$$U_0(y_k) = A \text{ where } A = \left[1 + O\left(\frac{1}{\lambda^8}\right)\right],$$

$$U_1(y_k) = i\lambda w'_k \left[1 + O\left(\frac{1}{\lambda^8}\right)\right],$$

$$U_1(y_0) = -\lambda A, U_1(y_1) = \frac{i-1}{\sqrt{2}} \lambda A, U_1(y_2) = \frac{-i-1}{\sqrt{2}} \lambda A, U_1(y_3) = i\lambda A, U_1(y_4) = -i\lambda A,$$

$$U_1(y_5) = \frac{i+1}{\sqrt{2}} \lambda A, U_1(y_6) = \frac{1-i}{\sqrt{2}} \lambda A, U_1(y_7) = \lambda A,$$

$$U_2(y_k) = -\lambda^2 w_k'^2 \left[1 + O\left(\frac{1}{\lambda^8}\right)\right],$$

$$U_2(y_0) = \lambda^2 A, U_2(y_1) = -\lambda^2 \left(\frac{1+i}{\sqrt{2}}\right)^2 A, U_2(y_2) = -\lambda^2 \left(\frac{i-1}{\sqrt{2}}\right)^2 A, U_2(y_3) = -\lambda^2 A,$$

$$U_2(y_4) = -\lambda^2 A, U_2(y_5) = -\lambda^2 \left(\frac{1-i}{\sqrt{2}}\right)^2 A, U_2(y_6) = -\lambda^2 \left(\frac{-1-i}{\sqrt{2}}\right)^2 A, U_2(y_7) = \lambda^2 A,$$

$$U_3(y_k) = -i\lambda^3 w_k'^3 \left[1 + O\left(\frac{1}{\lambda^8}\right)\right],$$

$$U_3(y_0) = -\lambda^3 A, U_3(y_1) = -i\lambda^3 \left(\frac{1+i}{\sqrt{2}}\right)^3 A, U_3(y_2) = -i\lambda^3 \left(\frac{i-1}{\sqrt{2}}\right)^3 A, U_3(y_3) = -i\lambda^3 A,$$

$$U_3(y_4) = i\lambda^3 A, U_3(y_5) = -i\lambda^3 \left(\frac{1-i}{\sqrt{2}}\right)^3 A, U_3(y_6) = -i\lambda^3 \left(\frac{-1-i}{\sqrt{2}}\right)^3 A, U_3(y_7) = \lambda^3 A,$$

$$U_4(y_0) = 0, U_4(y_1) = 0, U_4(y_2) = 0, U_4(y_3) = 0, U_4(y_4) = -i\lambda^7 e^{i\omega_4 a} \left[-8 + O\left(\frac{1}{\lambda^8}\right)\right],$$

$$U_4(y_5) = 0, U_4(y_6) = 0, U_4(y_7) = 0, U_5(y_0) = 0, U_5(y_1) = 0, U_5(y_2) = 0, U_5(y_3) = 0,$$

$$U_5(y_4) = 0, U_5(y_5) = -i\lambda^7 e^{i\omega_5 a} \left[\frac{\sqrt{2}}{16}(64 + 64i) + O\left(\frac{1}{\lambda^8}\right)\right], U_5(y_6) = 0, U_5(y_7) = 0,$$

$$U_6(y_0) = 0, U_6(y_1) = 0, U_6(y_2) = 0, U_6(y_3) = 0, U_6(y_4) = 0, U_6(y_5) = 0,$$

$$U_6(y_6) = -i\lambda^7 e^{i\omega_6 a} \left[-\sqrt{2}(4 - 4i) + O\left(\frac{1}{\lambda^8}\right)\right], U_6(y_7) = 0,$$

$$U_7(y_0) = 0, U_7(y_1) = 0, U_7(y_2) = 0, U_7(y_3) = 0, U_7(y_4) = 0, U_7(y_5) = 0,$$

$$U_7(y_6) = 0, U_7(y_7) = -i\lambda^7 e^{i\omega_7 a} \left[8i + O\left(\frac{1}{\lambda^8}\right)\right].$$

We want to find $\Delta(\lambda)$ in T_0 .

$$\Delta(\lambda) = \begin{vmatrix} U_0(y_0) & U_0(y_1) & U_0(y_2) & U_0(y_3) & U_0(y_4) & U_0(y_5) & U_0(y_6) & U_0(y_7) \\ U_1(y_0) & U_1(y_1) & U_1(y_2) & U_1(y_3) & U_1(y_4) & U_1(y_5) & U_1(y_6) & U_1(y_7) \\ U_2(y_0) & U_2(y_1) & U_2(y_2) & U_2(y_3) & U_2(y_4) & U_2(y_5) & U_2(y_6) & U_2(y_7) \\ U_3(y_0) & U_3(y_1) & U_3(y_2) & U_3(y_3) & U_3(y_4) & U_3(y_5) & U_3(y_6) & U_3(y_7) \\ U_4(y_0) & U_4(y_1) & U_4(y_2) & U_4(y_3) & U_4(y_4) & U_4(y_5) & U_4(y_6) & U_4(y_7) \\ U_5(y_0) & U_5(y_1) & U_5(y_2) & U_5(y_3) & U_5(y_4) & U_5(y_5) & U_5(y_6) & U_5(y_7) \\ U_6(y_0) & U_6(y_1) & U_6(y_2) & U_6(y_3) & U_6(y_4) & U_6(y_5) & U_6(y_6) & U_6(y_7) \\ U_7(y_0) & U_7(y_1) & U_7(y_2) & U_7(y_3) & U_7(y_4) & U_7(y_5) & U_7(y_6) & U_7(y_7) \end{vmatrix}$$

Clearly we known from [13], the eigenvalues of the given problem are the zeros of $\Delta(\lambda)$. If $\Delta(\lambda) = 0$ for sufficiently large $|\lambda|$, then

$$e^{i\lambda(\omega_4 + \omega_5 + \omega_6 + \omega_7)a} - 1 = -1 + O\left(\frac{1}{\lambda^8}\right), \dots (17)$$

or

$$e^{i\lambda(-1 - (\sqrt{2}+1)i)a} - 1 = -1 + O\left(\frac{1}{\lambda^8}\right), \dots (18)$$

Then according to [2] by using Rouché's theorem we can solve it and we get:

$$i\lambda(-1 - (\sqrt{2} + 1)i)a =$$

$$2m\pi i - 1 + O\left(\frac{1}{m^8}\right), \dots (19)$$

$$\lambda = \frac{2m\pi}{(-1 - (\sqrt{2}+1)i)a} + \frac{i}{(-1 - (\sqrt{2}+1)i)a} + O\left(\frac{1}{m^8}\right), \text{ for } m = N, N + 1, N + 2, \dots$$

where N is a large integer.

And we know that the eigenvalues of the problem are

$$\lambda_{0,m} = \lambda^8,$$

that is

$$\lambda_{0,m} = \left(\frac{2m\pi}{(-1 - (\sqrt{2}+1)i)a} + \frac{i}{(-1 - (\sqrt{2}+1)i)a} + O\left(\frac{1}{m^8}\right)\right)^8,$$

for $m = N, N + 1, N + 2, \dots$

where N is a large integer.

4. Asymptotic formula for the eigenfunctions

In this section, we try to find Eigenfunctions of the boundary value problem in the sector

$$T_0 = \left\{\lambda: \arg \lambda \in \left[0, \frac{\pi}{8}\right]\right\}.$$

Theorem 3: Asymptotic formulas of the eigenfunction of the boundary value problem (1) - (2) corresponding to $\lambda_{0,m}$ has the following forms:

$$y_{0,m}(x, \lambda) = 2e^{\frac{\sqrt{2}}{2}\lambda x(-1-i)} + 2e^{\frac{\sqrt{2}}{2}\lambda x(-1+i)} + 2ie^{-\lambda x} +$$

$$2ie^{i\lambda x} - 2\sqrt{2}ie^{\lambda xi} - 2\sqrt{2}e^{\frac{\sqrt{2}}{2}\lambda x(-1-i)} + O\left(\frac{1}{\lambda^7}\right),$$

$\lambda \in T_0$, for $m =$

$N, N + 1, N + 2, \dots$, and N is a large integer.

Proof: If the first eight terms in (3) are chosen then:

$$y_k^{(s)}(x, \lambda) = (i\lambda w'_k)^s e^{i\lambda w_k x} \left[A_{0sk}(x) + \frac{A_{1sk}(x)}{\lambda} + \frac{A_{2sk}(x)}{\lambda^2} + \frac{A_{3sk}(x)}{\lambda^3} + \frac{A_{4sk}(x)}{\lambda^4} + \frac{A_{5sk}(x)}{\lambda^5} + \frac{A_{6sk}(x)}{\lambda^6} + O\left(\frac{1}{\lambda^7}\right) \right],$$

for, $s = 0, 1, 2, 3, 4, 5, 6, 7, k = 0, 1, 2, 3, 4, 5, 6, 7$. We have:

$$A_{1sk} = 1, A_{1sk} = 0, A_{2sk} = 0, A_{3sk} = 0, A_{4sk} = 0, A_{5sk} = 0, A_{6sk} = 0.$$

And to finding the boundary conditions $U_j(y_k)$ for $k = 0, 1, 2, 3, 4, 5, 6, 7, j = 1, 2, 3, 4, 5, 6, 7$ up to order $O\left(\frac{1}{\lambda^7}\right)$ and If $\lambda \in T_0$, then

$$\begin{aligned} w'_0 &= i, w'_1 = \frac{1+i}{\sqrt{2}}, w'_2 = \frac{i-1}{\sqrt{2}}, w'_3 = 1, \\ w'_4 &= -1, w'_5 = \frac{1-i}{\sqrt{2}}, w'_6 = \frac{-1-i}{\sqrt{2}} \text{ and } w'_7 = -i. \\ U_1(y_k) &= i\lambda w'_k \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_1(y_0) &= -\lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_1(y_1) = \frac{i-1}{\sqrt{2}} \lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_1(y_2) &= \frac{-i-1}{\sqrt{2}} \lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_1(y_3) &= i\lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_1(y_4) = -i\lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_1(y_5) &= \frac{i+1}{\sqrt{2}} \lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_1(y_6) &= \frac{1-i}{\sqrt{2}} \lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_1(y_7) = \lambda \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_k) &= -\lambda^2 w_k'^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_0) &= \lambda^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_2(y_1) = -\lambda^2 \left(\frac{1+i}{\sqrt{2}}\right)^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_2) &= -\lambda^2 \left(\frac{i-1}{\sqrt{2}}\right)^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_3) &= -\lambda^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_2(y_4) = -\lambda^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_5) &= -\lambda^2 \left(\frac{1-i}{\sqrt{2}}\right)^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_2(y_6) = -\lambda^2 \left(\frac{-1-i}{\sqrt{2}}\right)^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_2(y_7) &= \lambda^2 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_3(y_k) &= -i\lambda^3 w_k'^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_3(y_0) &= -\lambda^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_3(y_1) = -i\lambda^3 \left(\frac{1+i}{\sqrt{2}}\right)^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_3(y_2) &= -i\lambda^3 \left(\frac{i-1}{\sqrt{2}}\right)^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \end{aligned}$$

$$\begin{aligned} U_3(y_3) &= -i\lambda^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_3(y_4) = i\lambda^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_3(y_5) &= -i\lambda^3 \left(\frac{1-i}{\sqrt{2}}\right)^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_3(y_6) &= -i\lambda^3 \left(\frac{-1-i}{\sqrt{2}}\right)^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], U_3(y_7) = \lambda^3 \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_4(y_0) &= 0, U_4(y_1) = 0, U_4(y_2) = 0, U_4(y_3) = 0, \\ U_4(y_4) &= -i\lambda^7 e^{i\omega'_4 a} \left[-8 + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_4(y_5) &= 0, U_4(y_6) = 0, U_4(y_7) = 0, \\ U_5(y_0) &= 0, U_5(y_1) = 0, U_5(y_2) = 0, U_5(y_3) = 0, \\ U_5(y_4) &= 0, U_5(y_5) = -i\lambda^7 e^{i\omega'_5 a} \left[\frac{\sqrt{2}}{16} (64 + 64i) + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_5(y_6) &= 0, U_5(y_7) = 0, \\ U_6(y_0) &= 0, U_6(y_1) = 0, U_6(y_2) = 0, U_6(y_3) = 0, \\ U_6(y_4) &= 0, U_6(y_5) = 0, U_6(y_6) = -i\lambda^7 e^{i\omega'_6 a} \left[-\sqrt{2}(4 - 4i) + O\left(\frac{1}{\lambda^7}\right) \right], \\ U_6(y_7) &= 0, \\ U_7(y_0) &= 0, U_7(y_1) = 0, U_7(y_2) = 0, U_7(y_3) = 0, \\ U_7(y_4) &= 0, U_7(y_5) = 0, U_7(y_6) = 0, \\ U_7(y_7) &= -i\lambda^7 e^{i\omega'_7 a} \left[8i + O\left(\frac{1}{\lambda^7}\right) \right], \end{aligned}$$

$$\begin{aligned} y_0(x, \lambda) &= e^{-\lambda x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], y_1(x, \lambda) = e^{i\lambda \left(\frac{1+i}{\sqrt{2}}\right) x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ y_2(x, \lambda) &= e^{i\lambda \left(\frac{i-1}{\sqrt{2}}\right) x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ y_3(x, \lambda) &= e^{i\lambda x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], y_4(x, \lambda) = e^{-i\lambda x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ y_5(x, \lambda) &= e^{i\lambda \left(\frac{1-i}{\sqrt{2}}\right) x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ y_6(x, \lambda) &= e^{i\lambda \left(\frac{-1-i}{\sqrt{2}}\right) x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right], \\ y_7(x, \lambda) &= e^{\lambda x} \left[1 + O\left(\frac{1}{\lambda^7}\right) \right]. \end{aligned}$$

As we see in [14], we can write the eigenfunctions as follows

$$y_{0,m}(x, \lambda) = \frac{-1}{64\lambda^{3+i^3} \left(\frac{\sqrt{2}}{16}(64+64i)\right) (4\sqrt{2}-4\sqrt{2}i)} e^{(i-1)\lambda a} \cdot e^{i\lambda \left(\frac{i-1}{\sqrt{2}}\right) a} \cdot e^{i\lambda \left(\frac{1+i}{\sqrt{2}}\right) a}$$

$$\begin{pmatrix} y_0(x, \lambda) & y_1(x, \lambda) & y_2(x, \lambda) & y_3(x, \lambda) & y_4(x, \lambda) & y_5(x, \lambda) & y_6(x, \lambda) & y_7(x, \lambda) \\ U_1(y_0) & U_1(y_1) & U_1(y_2) & U_1(y_3) & U_1(y_4) & U_1(y_5) & U_1(y_6) & U_1(y_7) \\ U_2(y_0) & U_2(y_1) & U_2(y_2) & U_2(y_3) & U_2(y_4) & U_2(y_5) & U_2(y_6) & U_2(y_7) \\ U_3(y_0) & U_3(y_1) & U_3(y_2) & U_3(y_3) & U_3(y_4) & U_3(y_5) & U_3(y_6) & U_3(y_7) \\ U_4(y_0) & U_4(y_1) & U_4(y_2) & U_4(y_3) & U_4(y_4) & U_4(y_5) & U_4(y_6) & U_4(y_7) \\ U_5(y_0) & U_5(y_1) & U_5(y_2) & U_5(y_3) & U_5(y_4) & U_5(y_5) & U_5(y_6) & U_5(y_7) \\ U_6(y_0) & U_6(y_1) & U_6(y_2) & U_6(y_3) & U_6(y_4) & U_6(y_5) & U_6(y_6) & U_6(y_7) \\ U_7(y_0) & U_7(y_1) & U_7(y_2) & U_7(y_3) & U_7(y_4) & U_7(y_5) & U_7(y_6) & U_7(y_7) \end{pmatrix} \dots \dots (20)$$

$$= \begin{vmatrix} e^{-\lambda x} & e^{i\lambda \left(\frac{1+i}{\sqrt{2}}\right)x} & e^{i\lambda \left(\frac{-1+i}{\sqrt{2}}\right)x} & e^{i\lambda x} & e^{-i\lambda x} & e^{i\lambda \left(\frac{1-i}{\sqrt{2}}\right)x} & e^{i\lambda \left(\frac{-1-i}{\sqrt{2}}\right)x} & e^{\lambda x} \\ -1 & i \left(\frac{1+i}{\sqrt{2}}\right) & i \left(\frac{-1+i}{\sqrt{2}}\right) & i & -i & i \left(\frac{1-i}{\sqrt{2}}\right) & i \left(\frac{-1-i}{\sqrt{2}}\right) & 1 \\ 1 & -\left(\frac{1+i}{\sqrt{2}}\right)^2 & -\left(\frac{-1+i}{\sqrt{2}}\right)^2 & -1 & -1 & -\left(\frac{1-i}{\sqrt{2}}\right)^2 & -\left(\frac{-1-i}{\sqrt{2}}\right)^2 & 1 \\ -1 & -i \left(\frac{1+i}{\sqrt{2}}\right)^3 & -i \left(\frac{-1+i}{\sqrt{2}}\right)^3 & -i & i & -i \left(\frac{1-i}{\sqrt{2}}\right)^3 & -i \left(\frac{-1-i}{\sqrt{2}}\right)^3 & 1 \\ 0 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 1 \end{vmatrix} + O\left(\frac{1}{\lambda^7}\right) \dots \dots \dots (21)$$

Thus, we obtain

$$y_{0,m}(x, \lambda) = 2e^{\frac{\sqrt{2}}{2}\lambda x(-1-i)} + 2e^{\frac{\sqrt{2}}{2}\lambda x(-1+i)} + 2ie^{-\lambda x} + 2ie^{i\lambda x} - 2\sqrt{2}ie^{\lambda xi} - 2\sqrt{2}e^{\frac{\sqrt{2}}{2}\lambda x(-1-i)} + O\left(\frac{1}{\lambda^7}\right) \dots \dots (22)$$

5. Conclusion

In our research, we obtained asymptotic expressions for the eight-order differential equations. Also, we demonstrated new asymptotic formulas for the eigenvalues and eigenfunctions to the boundary value problem (1) and (2).

References

[1] Menken, H. (2010). Accurate asymptotic formulas for eigenvalues and eigenfunctions of a boundary-value problem of fourth order. *Boundary Value Problems*, 1-21.

[2] Jwamer, K. H., & Qadr, K. H. (2010). Estimation of normalized eigenfunctions of spectral problem with smooth coefficients. *ACTA UNIVERSITATIS APULENSIS*.

[3] Jwamer, K. H., & Rasul, R. R. (2017). The Asymptotic Estimations of the Eigen-values and Eigen-functions for the Fourth Order Boundary Value Problem with Smooth Coefficients. *Math. Sci. Lett*, 6(2), 121-129.

[4] Jwamer, K. H., & Rasul, R. R. (2017). Estimations of the upper bound for the eigenfunctions of the fourth order boundary value problem with smooth coefficients. *Math. Sci. Lett*, 6(1), 67-74.

[5] Aigunov, G. A., Jwamer, K. H., & Dzhalaeva, G. A. (2012). Estimates for the eigenfunctions of the Regge problem. *Mathematical Notes*, 92(1), 132-135.

[6] Aigunov, G. A. (1975). Spectral problem of T. Regge type for ordinary differential operator of n2 order. *Col. Functional analysis, theory of functions and their appendices*, (2), 21-41.

[7] Jwamer, K. H. (2012). Estimation of eigenfunctions to the new type of spectral problem. *J. Math. Comput. Sci.*, 2(5), 1335-1352.

[8] Karwan, H. F., & Aryan Ali, M. (2012). Study the behavior of the solution and asymptotic behaviors of eigenvalues of a six order boundary value problem, *IJRRAS. Sci.*, 3(13), 790-799.

[9] Aryan Ali, M. (2017). Spectral Properties of the Second Order Differential Operators with Eigenvalues Parameter Dependent Boundary Conditions. *Journal of Zankoy Sulaimani, (Part A)*, 221-228.

[10] Aryan Ali, M. (2020)., " Solving Some Types of the Second and Third Order Spectral Linear Ordinary Differential Equations". *Journal of University of Babylon for Pure and Applied Sciences*, 28.1, 12-24.

[11] J. D. Tamarkin. (1917). Some general problems of the theory of ordinary linear differential equations and expansion of arbitrary functions in series Petrograd.

[12] Mitrokhin, S. I. (2019). On the study of the spectrum of a functional-differential operator with a summable potential. *Vladikavkazskii Matematicheskii Zhurnal*, 21(2), 38-57.

[13] M. A.Naimark. (1967). *Linear Differential Operators. Part 1"*. New York: Frederick Ungar.

[14] Tamila, Y. (2010). *Analysis of Spectral Characteristics of One Non-self adjoint Problem with Smooth Coefficients*. South of Russian: PhD thesis, Dagestan State University.

إستنتاج القيم الذاتية والدوال الذاتية بشكل مقارب لمسائل القيمة الحدودية من الرتبة الثامنة

اريان علي محمد¹ ، ريباز فاضل محمود²

¹قسم علوم الرياضيات ، كلية التربية الأساسية ، جامعة السليمانية ، قليم كردستان، العراق

²قسم الرياضيات ، كلية التربية ، جامعة السليمانية ، قليم كردستان ، العراق

الملخص

في البحث المقدم، ندرس مسألة القيمة الذاتية الناتجة عن المعادلات التفاضلية من الرتبة الثامنة بشروط حدودية مناسبة ، والتي تحتوي على معلمة طيفية. تم حساب تعبيرات مقارنة دقيقة جديدة للحلول الثمانية المستقلة خطياً. بعد ذلك ، تم الحصول على صيغ مقارنة جديدة للقيم الذاتية والدوال الذاتية لمسألة القيمة الحدودية